This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 5 - Peterhead North and Rattray

4,200

4

841

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kevin Robert ANDERSON	Scottish Liberal Democrats	156
Dianne BEAGRIE	Independent	974
Sharon BRADFORD	Independent	79
Alan S. BUCHAN	Independent	548
Matthew JAMES	Scottish Conservative and Unionist	599
Trish MCPHERSON	Alba Party for independence	99
Leeann MCWHINNIE	Scottish National Party (SNP)	1,222
Iain SUTHERLAND	Scottish Conservative and Unionist	523
	Total	4,200

Candidate Dianne BEAGRIE Elected with 974 votes, being in excess of the quota of 841 Candidate Leeann MCWHINNIE Elected with 1,222 votes, being in excess of the quota of 841

This report contains the transfers results.

Stage 2 - Surplus of Leeann MCWHINNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin Robert ANDERSON	147	0.31178	45.83166
Transfer to Sharon BRADFORD	119	0.31178	37.10182
Transfer to Alan S. BUCHAN	182	0.31178	56.74396
Transfer to Matthew JAMES	34	0.31178	10.60052
Transfer to Trish MCPHERSON	290	0.31178	90.41620
Transfer to Iain SUTHERLAND	43	0.31178	13.40654
No further preference	407	0.31178	126.89446
Not transferred due to rounding			0.00484
	Total		381.00000

This report contains the transfers results.

Stage 3 - Surplus of Dianne BEAGRIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin Robert ANDERSON	45	0.13655	6.14475
Transfer to Sharon BRADFORD	184	0.13655	25.12520
Transfer to Alan S. BUCHAN	194	0.13655	26.49070
Transfer to Matthew JAMES	123	0.13655	16.79565
Transfer to Trish MCPHERSON	37	0.13655	5.05235
Transfer to Iain SUTHERLAND	132	0.13655	18.02460
No further preference	259	0.13655	35.36645
Not transferred due to rounding			0.00030
	Total		133.00000

This report contains the transfers results.

Stage 4 - Exclusion of Sharon BRADFORD

141.22702

Transfer to Alan S. BUCHAN 24 1.00000 24.00000 Transfer to Matthew JAMES 3 1.00000 3.0000 Transfer to Trish MCPHERSON 14 1.00000 14.0000 Transfer to lain SUTHERLAND 6 1.00000 6.0000 Transfer to Kevin Robert ANDERSON 10 0.31178 3.1178 Transfer to Alan S. BUCHAN 41 0.31178 12.7829 Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.9238 Transfer to Iain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14068 Transfer to Alan S. BUCHAN 79 0.13655 10.78748 Transfer to Matthew JAMES 25 0.13655 3.41378 Transfer to Trish MCPHERSON 5 0.13655 0.68278 Transfer to Iain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Matthew JAMES 3 1.00000 3.0000 Transfer to Trish MCPHERSON 14 1.00000 14.0000 Transfer to lain SUTHERLAND 6 1.00000 6.0000 Transfer to Kevin Robert ANDERSON 10 0.31178 3.11780 Transfer to Alan S. BUCHAN 41 0.31178 12.78290 Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.92382 Transfer to Iain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14068 Transfer to Alan S. BUCHAN 79 0.13655 10.78748 Transfer to Matthew JAMES 25 0.13655 3.41378 Transfer to Trish MCPHERSON 5 0.13655 0.68278 Transfer to Iain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Kevin Robert ANDERSON	11	1.00000	11.00000
Transfer to Trish MCPHERSON 14 1.00000 14.00000 Transfer to lain SUTHERLAND 6 1.00000 6.00000 Transfer to Kevin Robert ANDERSON 10 0.31178 3.11780 Transfer to Alan S. BUCHAN 41 0.31178 12.78290 Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.92380 Transfer to lain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14060 Transfer to Alan S. BUCHAN 79 0.13655 10.78740 Transfer to Matthew JAMES 25 0.13655 3.41370 Transfer to Trish MCPHERSON 5 0.13655 0.68270 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Alan S. BUCHAN	24	1.00000	24.00000
Transfer to lain SUTHERLAND 6 1.00000 6.00000 Transfer to Kevin Robert ANDERSON 10 0.31178 3.11780 Transfer to Alan S. BUCHAN 41 0.31178 12.78290 Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.9238 Transfer to lain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14069 Transfer to Alan S. BUCHAN 79 0.13655 10.78749 Transfer to Matthew JAMES 25 0.13655 3.41379 Transfer to Trish MCPHERSON 5 0.13655 0.68279 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Matthew JAMES	3	1.00000	3.00000
Transfer to Kevin Robert ANDERSON 10 0.31178 3.11780 Transfer to Alan S. BUCHAN 41 0.31178 12.78290 Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.92380 Transfer to Iain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14060 Transfer to Alan S. BUCHAN 79 0.13655 10.78740 Transfer to Matthew JAMES 25 0.13655 3.41370 Transfer to Trish MCPHERSON 5 0.13655 0.68270 Transfer to Iain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Trish MCPHERSON	14	1.00000	14.00000
Transfer to Alan S. BUCHAN 41 0.31178 12.78298 Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.9238 Transfer to lain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14069 Transfer to Alan S. BUCHAN 79 0.13655 10.78749 Transfer to Matthew JAMES 25 0.13655 3.41379 Transfer to Trish MCPHERSON 5 0.13655 0.68279 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Iain SUTHERLAND	6	1.00000	6.00000
Transfer to Matthew JAMES 1 0.31178 0.31178 Transfer to Trish MCPHERSON 19 0.31178 5.9238 Transfer to lain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14068 Transfer to Alan S. BUCHAN 79 0.13655 10.78748 Transfer to Matthew JAMES 25 0.13655 3.41378 Transfer to Trish MCPHERSON 5 0.13655 0.68278 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Kevin Robert ANDERSON	10	0.31178	3.11780
Transfer to Trish MCPHERSON 19 0.31178 5.92382 Transfer to Iain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14068 Transfer to Alan S. BUCHAN 79 0.13655 10.78748 Transfer to Matthew JAMES 25 0.13655 3.41378 Transfer to Trish MCPHERSON 5 0.13655 0.68278 Transfer to Iain SUTHERLAND 18 0.13655 2.45796 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65366	Transfer to Alan S. BUCHAN	41	0.31178	12.78298
Transfer to lain SUTHERLAND 1 0.31178 0.31178 Transfer to Kevin Robert ANDERSON 23 0.13655 3.14068 Transfer to Alan S. BUCHAN 79 0.13655 10.78748 Transfer to Matthew JAMES 25 0.13655 3.41378 Transfer to Trish MCPHERSON 5 0.13655 0.68278 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Matthew JAMES	1	0.31178	0.31178
Transfer to Kevin Robert ANDERSON 23 0.13655 3.14069 Transfer to Alan S. BUCHAN 79 0.13655 10.78749 Transfer to Matthew JAMES 25 0.13655 3.41379 Transfer to Trish MCPHERSON 5 0.13655 0.68279 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Trish MCPHERSON	19	0.31178	5.92382
Transfer to Alan S. BUCHAN 79 0.13655 10.78745 Transfer to Matthew JAMES 25 0.13655 3.41375 Transfer to Trish MCPHERSON 5 0.13655 0.68275 Transfer to lain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65366	Transfer to Iain SUTHERLAND	1	0.31178	0.31178
Transfer to Matthew JAMES 25 0.13655 3.41375 Transfer to Trish MCPHERSON 5 0.13655 0.68275 Transfer to Iain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Kevin Robert ANDERSON	23	0.13655	3.14065
Transfer to Trish MCPHERSON 5 0.13655 0.68275 Transfer to Iain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Alan S. BUCHAN	79	0.13655	10.78745
Transfer to Iain SUTHERLAND 18 0.13655 2.45790 No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Matthew JAMES	25	0.13655	3.41375
No further preference 21 1.00000 21.00000 No further preference 47 0.31178 14.65360	Transfer to Trish MCPHERSON	5	0.13655	0.68275
No further preference 47 0.31178 14.65366	Transfer to Iain SUTHERLAND	18	0.13655	2.45790
No further preference 47 0.31178 14.65366				
	No further preference	21	1.00000	21.00000
No further preference 34 0.13655 4.64270	No further preference	47	0.31178	14.65366
	No further preference	34	0.13655	4.64270
Not transferred due to rounding 0.0000	Not transferred due to rounding			0.00000

Total 141.22702

This report contains the transfers results.

Stage 5 - Exclusion of Trish MCPHERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin Robert ANDERSON	12	1.00000	12.00000
Transfer to Alan S. BUCHAN	36	1.00000	36.00000
Transfer to Matthew JAMES	2	1.00000	2.00000
Transfer to Iain SUTHERLAND	6	1.00000	6.00000
Transfer to Kevin Robert ANDERSON	63	0.31178	19.64214
Transfer to Alan S. BUCHAN	81	0.31178	25.25418
Transfer to Matthew JAMES	6	0.31178	1.87068
Transfer to Iain SUTHERLAND	3	0.31178	0.93534
Transfer to Kevin Robert ANDERSON	7	0.13655	0.95585
Transfer to Alan S. BUCHAN	5	0.13655	0.68275
Transfer to Matthew JAMES	3	0.13655	0.40965
Transfer to Iain SUTHERLAND	5	0.13655	0.68275
No further preference	57	1.00000	57.00000
No further preference	156	0.31178	48.63768
No further preference	22	0.13655	3.00410
Not transferred due to rounding			0.00000
	Total		215.07512

This report contains the transfers results.

Stage 6 - Exclusion of Kevin Robert ANDERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan S. BUCHAN	53	1.00000	53.00000
Transfer to Matthew JAMES	22	1.00000	22.00000
Transfer to Iain SUTHERLAND	14	1.00000	14.00000
Transfer to Alan S. BUCHAN	87	0.31178	27.12486
Transfer to Matthew JAMES	12	0.31178	3.74136
Transfer to Iain SUTHERLAND	10	0.31178	3.11780
Transfer to Alan S. BUCHAN	17	0.13655	2.32135
Transfer to Matthew JAMES	10	0.13655	1.36550
Transfer to Iain SUTHERLAND	9	0.13655	1.22895
No further preference	90	1.00000	90.00000
No further preference	111	0.31178	34.60758
No further preference	39	0.13655	5.32545
Not transferred due to rounding			0.00000
	Total		257.83285

This report contains the transfers results.

Stage 7 - Exclusion of Iain SUTHERLAND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan S. BUCHAN	47	1.00000	47.00000
Transfer to Matthew JAMES	442	1.00000	442.00000
Transfer to Alan S. BUCHAN	13	0.31178	4.05314
Transfer to Matthew JAMES	24	0.31178	7.48272
Transfer to Alan S. BUCHAN	18	0.13655	2.45790
Transfer to Matthew JAMES	80	0.13655	10.92400
No further preference	60	1.00000	60.00000
No further preference	20	0.31178	6.23560
No further preference	66	0.13655	9.01230
Not transferred due to rounding			0.00000
	Total		589.16566